
Puissances de Dix (B)

70 × 1 = 75 × 1 =
70 × 0,1 = 75 × 0,1 =
70 × 0,01 = 75 × 0,01 =
70 × 0,001 = 75 × 0,001 =
70 × 0,0001 = 75 × 0,0001 =

84 × 1 = 46 × 1 =
84 × 0,1 = 46 × 0,1 =
84 × 0,01 = 46 × 0,01 =
84 × 0,001 = 46 × 0,001 =
84 × 0,0001 = 46 × 0,0001 =

80 × 1 = 85 × 1 =
80 × 0,1 = 85 × 0,1 =
80 × 0,01 = 85 × 0,01 =
80 × 0,001 = 85 × 0,001 =
80 × 0,0001 = 85 × 0,0001 =

62 × 1 = 63 × 1 =
62 × 0,1 = 63 × 0,1 =
62 × 0,01 = 63 × 0,01 =
62 × 0,001 = 63 × 0,001 =
62 × 0,0001 = 63 × 0,0001 =

16 × 1 = × 1 =
16 × 0,1 = × 0,1 =
16 × 0,01 = × 0,01 =
16 × 0,001 = × 0,001 =
16 × 0,0001 = × 0,0001 =

DÉFI
MathsLibres.com

1 890
1 890
1 890
1 890
1 890



Puissances de Dix (B) Solutions

70 × 1 = 70 75 × 1 = 75
70 × 0,1 = 7 75 × 0,1 = 7,5
70 × 0,01 = 0,7 75 × 0,01 = 0,75
70 × 0,001 = 0,07 75 × 0,001 = 0,075
70 × 0,0001 = 0,007 75 × 0,0001 = 0,0075

84 × 1 = 84 46 × 1 = 46
84 × 0,1 = 8,4 46 × 0,1 = 4,6
84 × 0,01 = 0,84 46 × 0,01 = 0,46
84 × 0,001 = 0,084 46 × 0,001 = 0,046
84 × 0,0001 = 0,0084 46 × 0,0001 = 0,0046

80 × 1 = 80 85 × 1 = 85
80 × 0,1 = 8 85 × 0,1 = 8,5
80 × 0,01 = 0,8 85 × 0,01 = 0,85
80 × 0,001 = 0,08 85 × 0,001 = 0,085
80 × 0,0001 = 0,008 85 × 0,0001 = 0,0085

62 × 1 = 62 63 × 1 = 63
62 × 0,1 = 6,2 63 × 0,1 = 6,3
62 × 0,01 = 0,62 63 × 0,01 = 0,63
62 × 0,001 = 0,062 63 × 0,001 = 0,063
62 × 0,0001 = 0,0062 63 × 0,0001 = 0,0063

16 × 1 = 16 × 1 =
16 × 0,1 = 1,6 × 0,1 = 189
16 × 0,01 = 0,16 × 0,01 = 18,9
16 × 0,001 = 0,016 × 0,001 = 1,89
16 × 0,0001 = 0,0016 × 0,0001 = 0,189
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